
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

5th Month, 4th Week, 2nd Day Syllabus: Unit # 10:  Uses of expansion and

contraction in everyday life to overhead power and

telephone wires.

Q.No.1 Encircle the correct answer from the following choices. (1×4=4)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. Concrete in roads expand in: vvvvÃÃÃÃVVVV~~~~èèèèffff$$$$''''''''''''~~~~’’’’YYYY@@@@****ììììXXXX

(a) Winter uŠ~ (b) Spring ·g (c) Autumn �ZV (d) Summer ¤/ò

2. The gaps are left after every few________ in the concrete roads.

èèèèffff$$$$ggggzzzzeeeeiiii~~~~PPPP''''''''''''ÆÆÆÆˆ̂̂̂{{{{ààààÇÇÇÇgggghhhh~~~~YYYYCCCC÷÷÷÷XXXX

(a) Centimeters v¢a (b) Meters ¢ai

(c) Kilometers ³¢ai (d) Millimeters B¢ai

3. In building bridges_________ must account for expansion in their design. 

¤¤¤¤8888----øøøøVVVV~~~~''''''''''''ZZZZLLLLeeeemmmm,,,,ZZZZíííí~~~~ZZZZ
&&&&»»»»444455554444jjjj

èèèè

GGGGFFFFGGGG

EEEEIIII
EEEEÃÃÃÃ¢¢¢¢zzzzggggÅÅÅÅºººº{{{{§§§§ggggnnnnpppp÷÷÷÷XXXX

(a) Doctors eZËi (b) Teachers Z‚E+{

(c) Engineers Zbi (d) Shopkeeper Š»0+Zg

4. Rialway tracks expand in__________. ggggwwww}}}}RRRR,,,,oooo''''''''''''~~~~’’’’YYYYDDDD²²²²XXXX

(a) Cold days Q}ŠâV (b) Hot days ¤/xŠâV

(c) Very cold days ic*Š{Q}ŠâV (d) Both a & c c Zzg a

Q.No.2. Write the short answers. (2 <<<< 3 = 6) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Why are roads ruptured at high temperature? ic*Š{ŠgzwZg]6,vXYVI^YC÷?

(ii)  What is the effect of temperature on the cables and telephone wires?

´45Î
æ
GEEZzg8¯yÅ@*gzV6,ŠgzwZg]»HZW,ƒ@*ìX

(iii) What is the function of rollers in bridges? øV~gz°i»»xHƒ@*ì?
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